EXAM 2

BLAKE FARMAN

Lafayette College

Answer the questions in the spaces provided on the question sheets and turn
them in at the end of the exam period.

It is advised, although not required, that you check your answers. All
supporting work is required. Unsupported or otherwise mysterious answers
will not receive credit.

You may not use a calculator or any other electronic device, including cell
phones, smart watches, etc.

Name: Solutions

Date: October 23, 2019.



2 EXAM 2
FUNCTIONS
1. Find the value of m that makes the function
22 — 25
fla)=q 7F°
mx + 15 if x < =5

if —b<ux

a continuous function.

‘ = y (X‘{’ )C -5)
I fl) = o 3l
= &/5_ X-6 = -|o

é;sf %&) gf Mt (S = “5m 15 = {(S)

—Sm+]5 =10
=5 -5m =725
=> m=5



EXAM 2

DERIVATIVES
2. Use the limit definition
. flz+h) - f(z)
, —_—
flz) = |im h
to compute the derivative of
1
f(x) .

()= e 53=% _fi 5 —(s4)
{ /5—50 £ A /5\%()0-/[\)

= i A
Ao Lx(eh)

= w L
A0 X(4h)



4 EXAM 2

DERIVATIVE RULES

3. Compute the line tangent to
f(x) = tan(z)

at = 7/4.

()= 4 nlrsy)= |

’{/{ X) = Sec Z(K)
(') = ()

- [

()
N
= 2z




EXAM 2
PropuCcT AND QUOTIENT RULES
4. Compute

d o,
o (27 sec(x)] .

Zysecly) + x°zec (x)tan(x)

5. Compute

d [Cos(x)} |

x+1
Eﬁ{n&) (x+1) — C03()
(+1)°
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CHAIN RULE
d z+1
a [COS (ZL‘—|—2) .
- sin (Ji’—) ( X2 = (xt)
K+2 (Xtz)

= - S,’n(%} ((Y:Zf)

6. Compute




EXAM 2 7
IMPLICIT DIFFERENTIATION AND RELATED RATES

7. The volume of a tree is given by V = ﬁCzh, where C'is the circumference of the tree in
meters at ground level, and h is the height of the tree in meters. Both C' and h are functions

of time, ¢, in years.

dv dv
(a) Find a formula for T What does ' represent in practical terms?

- /z-r (ZCC% t C%) Feprcsen‘ls He rake of Cflange,
of Heo  velume of o free it respec] b Hwme

(b) Suppose the circumference grows at a rate of 1 meter every 5 years, and the height
grows at a rate of 4 meters per year. How fast is the volume of the tree growing when

the circumference is 5 meters and the height is 22 meters?

=%, hi=y (=5, h=22
V'= ’(2(5)@)(22) + SZKL/))

- L L
//(L//ﬂoo)

/

-y
1251

»EW@Q




8 EXAM 2

DERIVATIVES AND SHAPE

Use the function
f(z) =2* — 62° + 9z — 4

to answer the following questions.

8. Find the intervals where the function is increasing and decreasing. Write NONE if not

applicable.
Increasing: ("00} ' ) J (3/ 190)
Decreasing;: [ // 3)

{0

{1l) = 3¢ 12 19 A
= 3(x*-Yx+3) - *
= 3(x-1)(x-3) (o N\ &

{(()7 -6+9-4 =56
{(s)=27 -9 +27F-4f = ¢

9. State the local maximum and local minimum value(s). Write NONE if not applicable.

Local maximum value(s): \/’/) O)

Local minimum value(s): (3 y -L/)
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10. Find the intervals on which the function is concave up and concave down. State the

inflection points. Write NONE if not applicable.
Concave Up: (Z,) 0 )

Concave Down: ("00) L)

Inflection Points: (Z) —Z)

{19~ 6x 12 = 6(y-2) f()- 32141574

- 26-2%
g ,{ ')
4

=-2
(20)

7
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ASYMPTOTES
11. Find the asymptotes of
322
fla) =
Write NONE if there are none.
Horizontal: Y 7/_5
U +
Vertical: X=* Z
/ZM Sx _ Xt/ 3
X A
X=730 X= 0 X X
_ B
- q
o0 1= WP
= 3 _ 3
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CURVE SKETCHING
12. You are given the following information about a function, f:
e z-intercept(s): (1,0),
e y-intercept: None,
e asymptotes: x =0 and y = 0,
e critical point(s): (2,1/4),
e increasing: (0,2),
e decreasing: (—o0,0) U (2,00),
e concave up: (3,00),
e concave down: (—oo,3), and
o /(3)=2/9.
From left to right, the points (1,0), (2,1/4), and (3,2/9) have been plotted below. Use the

information above to sketch the curve.

+

N

N
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CLOSED INTERVAL METHOD AND OPTIMIZATION

13. Find the absolute maximum and minimum values of f(z) = 2? — 4x — 12 on [0, 5].

(14)- 24 = 26-2) =0 = x=2

{lo)= —12

(2)= 4-g-12 =le| ™

f(5) =25 =20 —1z=[F] Mo

14. What is the minimum vertical distance between the parabolas y = 22+1 and y = x —2%?

D= X = ()
= XZ+/~X—H<Z
= Ix*—X+]

D =4x-|=0
=7 X= Yy

S Qa ﬁlo\oa) MIN | MUM

o

D(h)=2 i)-i,ﬂ

-

7(



